
**H+/HCO3- دائما في بينهم توازن

**PH of blood is 7.4
ما الها رينج 

يعني أي تغير يؤدي الى خلل

**volatile acids(carbonic acid)  يخرج اثناء

التنفس
**non volatile لا يخرج اثناء التنفس

**rapid mechanism :during the event
**Intermediate mechanism :respiratory buffer
**slow mechanism : in kidney/long acting/after event

**the kidney starts full correction:
• اذا في ايونات هيدروجين زيادة تخرج في البول

• :اذا كان في قلويات زيادة يحدث
HCO3- reabsorbtion

***Alkalosis: increase in Hco3- or decrease in H+



**Ammonia: doesn’t affect on the PH of urine.

--PH= H+ /HCO3- كل ما يخرج ايونات  هيدروجين في البول بصير  7.4=

اعادة امتصاص ل

HCO3- للدم

**أحيانا يخرج  ال
HCO3-
.DIFFUSIONلحالة ال 
أحيانا يدخل ال**

HCO3- ,
-CLويخرج 
(COUNTER ANTIPORT)

يعني الجسم يخرج جزيء  ويدخل جزيء سالب

Respiratory acidosis :مشكلة في التنفس

1)Pulmonary fibrosis:increasing in the thickness of the wall of 
alveoli
**all of diseases of acidosis lead to accumulation of co2 in the 
blood and increase in acidity.



*Alkalosis:increase in HCO3- and decease in H+

In case of severe vomiting specially(Rotavirus)
It also leads to gastritis because of HCL decreasing.


